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R — (Test One)

i % — Paper One

Part I Listening Comprehension (20 minutes)
Section A
Directions: In this section you will hear 10 short conversations , At the end of each conversation , a ques-
tion will be asked. Both the conversation and the question will be spoken only once. After
each question there will be a pause. During the pause, you must read the four choices
marked A), B), C) and D), and decide which is the best answer. Then mark the corre-
sponding letter on the Answer Sheet with a single line through the centre .
Example: You will hear :
You will read: A) At the office. C) At the airport.
B) In the waiting room. D) In a restaurant.
From the comwersation we know that the two were talking about some work they had to finish in
the evening . This is most likely to have taken place at the office. ' Therefore, A) “At the
office” is the best answer. You should choose [A] on the Answer Sheet and mark it with a
single line through the centre.
Sample Answer [A] [B] [C] [D]

1. A) At an insurance company. C) On an airplane.
B) In a post office. D) In a moving company.
2. A) He may convert it and use it as a bar. C) He may sell it to the owner of the bar.

B) He may pull it down and build a new bar. D) He may rent it out for use as a bar.
3. A) She has no desire to work in a company.

B) She will graduate after the man does.

C) She likes to work in a company.

D) She has no idea where graduation will be held.
4. A) She is grateful that he got her the book.

B) She appreciates his looking for the book.

C) She’s annoyed he did not find the book.

D) She’1l look for the book some other time.
5. A) He and his neighbours moved the bed.

B) The bed wasn’t as heavy as it looks.

C) His neighbours found him another bed.

D) They had to get a moving company to help.
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B) The game began some time ago. D) Now it’s a good time to start playing.
7. A) Mary came to the party. C) Mary hasn’t tumed up yet.

B) Mary planned the party. D) Mary hasn’t any imagination.
8. A) Hang on tightly on the telephone.

B) Find out for himself about the library’s hours.

C) Wait while she looks for the book he wants.

D) Wait while she gets the infonmation he wants.
9. A) Dr. Smith sells books on wildlife, too.

B) She can’t tell whether the talk was good or not.

C) The weather has been bad for local wildlife.

D) Dr. Smith didn’t present a talk after all.

10. A) She prefers listening to the radio. C) She needs a quieter place.

B) The new apartment is cheaper. D) The present apartment is too expensive.
Section B
Directions: In this section, you will hear 3 short passages, At the end of each passage, you will hear

Passage One

some questions. Both the passage and the questions will be spoken only once. After you hear
a question, you must choose the best answer from the four choices marked A), B), C)
and D). Then mark the corresponding letter on the Answer Sheet with a single line through
the centre .

Questions 11 to 13 are based on the passage you have just heard.

11. A) Trees are not as useful now as they were in the past.
B) Man still depends on trees for his daily life.
C) Trees provide only food for man.
D) Trees were more useful in the past than they are now.

12. A) The sun doesn’t shine at all. C) The sun shines only in summer.
B) The sun shines only during the hot season. D) It is hot all the year round.
13. A) The land is covered by rivers. C) The land is tumed into desert in the end.
B) The land needs to be fertilized. D) The land is changed into low-lying fields .
Passage Two

Questions 14 to 16 are based on the passage you have just heard.

14. A) The liberation of black people in the U.S. C) The black population in the United States.
B) The American Civil War. D) Slavery in America.
15. A) Slavery was finally done away with in 1940.

L



C) Slavery was done away with before the civil war.

D) There are nearly two million black people in New York.

16. A) About six million. C) Nearly two million.
B) More than two million. D) About six hundred thousand.
Passage Three

Questions 17 to 20 are based on the passage you have just heard.

17. A) They were used to storeing food in.
B) They were used as shelters.
C) They were used to catching wild animals.
D) They were used to keeping their herds of animals.
18. A) They had to find water.
B) They had to find grasslands for their animals.
C) They were often attacked by dangerous animals.
D) Their animals could not remain still.
19. A) They used wood and grass. C) They used animal skins and wood.
B) They used stones and bricks. D) Tree leaves and branches were used.
20. A) They killed all their herds of animals.
B) They began making improvements to their homes.
C) They stopped raising animals.
D) They cleared forests.

Part I Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished
statements. For each of them there are four choices marked A), B), C) and D). You
should decide on the best choice and mark the corresponding letter on the Answer Sheet with a
single line through the centre .

Questions 21 to 25 are based on the following passage:

During the American War of Independence, women were involved in the active fighting in three
ways. First as members of a distinct branch of the Continental Amy, refered to as “Women of the
Army”, women staffed field hospitals and acted as military support in such roles as water carriers. In an
emergency , women water carriers, who had plenty of opportunity to observe the firing of cannons, could
replace a wounded comrade. The second way that women were involved in active fighting was as regular
troop members who wore men’s uniforms and fought side by side with their male counterparts. Theoreti-
cally women were not supposed to be recruited into the Continental Army, but if a woman was a good sol-

dier no one made an issue of sex at a time when the army was so short of soldiers that boys not yet in their

+ 3 .



with local militia companies or committees of ;afety formed to protect the local community.

21. What is the main idea expressed in the passage?
A) Women played an important role in military hospitals during the Revolutionary War.
B) The Continental Army was successful in teaching women to fire cannons.
C) The services of women on committees of safety were crucial in winning the war.
D) Women were active in combat during the Revolutionary War.
22. Women sometimes fired cannons in battle because
A) they had observed the procedure and could therefore substitute for disabled men
B) local militia companies had trained them very carefully for emergency fighting
C) they had a better sefety records than men for using weapons
D) it was against the law for young boys to fire weapons
23. What is probably the main reason that women were permitted to fight in the war even though their for-
mal participation was discouraged?
A) Only women were successful as water carriers.
B) They were needed to make battle uniforms.
C) Colonial women were particularly healthy and strong.
D) The amy desperately needed combat soldiers.
24. Women were involved in fighting the war for American independence in all of the following ways EX-
CEPT as .

A) members of committees of safety C) recruiters of soldiers for the Continental army
B) support personnel at medical facilities D) combat troops in the regular army
25. This passage would most probably be assigned reading for a course in what subject?
A) Nursing. C) Social Work.
B) History. D) Labor Studies.

Questions 26 to 30 are based on the following passage:

The science of meteorology (X% %) is concemned with the study of the structure, state, and be-
havior of the atmosphere. The subject may be approached from several directions, but the sceme cannot
be fully appreciated from any one vantage point. Different views must be integrated to give perspective to
the whole picture.

One may consider the condition of the atmosphere at a given moment and attempt to predict changes
from that condition over a period of a few hours to a few days ahead. This approach is covered by the
branch of the science called synoptic meteorology (552 ).

Synoptic meteorology is the scientific basis of the technique of weather forecasting by means of the
preparation and analysis of weather maps aerological diagrams. The practical importance of the numerous
applications of weather forecasting cannot be overestimated. In serving the needs of shipping, aviation,
agriculture, industry and many other interests and fields of human activity with accurate weather wamings

. 4 .



pmp;arty and in economic advantages of various kinds. One important purpose of the science of meteorolo-
gy is constantly to strive, through advanced study and research, to increase our knowledge of the atmo-
sphere with the aim of improving the accuracy of weather forecasts.

The tools needed to advance our knowledge in this way are the disciplines of mathematies and
physics applied to solve meteorological problems. The use of these tools forms that branch of the science
called dynamic meteorology .

26. The predictions of synoptic meteorologists are directly based on the .

A) application of the physical sciences C) anticipated needs of industry
B) preparation and study of weather maps D) observation of commercial airline pilots
27. Which of the following is NOT referted to by the author as a field whose needs are served by weather
forecasting?
A) Transportation. C) Farming.
B) Manufacturing. D) Sports.

28. The auther implies that increased accuracy in weather forecasting will lead to .
A) more funds allocated to meteorological research
B) greater protection of human life
C) a higher number of professional forecasters
D) less-specialized forms of synoptic meteorology
29. Which of the following statements best describes the organization of the third paragraph of the pas-
sage?
A) A procedure is explained and its importance is emphasized.
B) Two contrasting views of a problem are presented.
C) Recent scientific advancements are outlined in order of importance.
D) A problem is examined and possible solutions are given.
30. In the last sentence of the passage, the phrase “these tools” refers to .
A) weather forecasts C) mathematics and physics
B) meteorological problems D) economic advantages

Questions 31 to 35 are based on the following passage:

There are various ways in which individual economic units can interact with one another. Three ba-
sic ways may be described as the market system, the administered system, and the traditional system.

In a market system individual economic units are free to interact among each other in the market-
place. It is possible to buy commodities from other economic units or sell commodities to them. In a
market, transactions may take place via barter or money exchange. In a barter economy, real goods
such as automobiles, shorts, and pizzas are traded against each other. Obviously, finding somebody
who wants to trade my old car in exchange for a sailboat may not always be an easy task. Hence the in-
troduction of money as a medium of exchange eases transactions considerably. In the modem market

. 5 .
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An alternative to the market system is administrative control by some agency over all transactions.
This agency will issue edicts or commands as to how much of each good and service should be produced,
exchanged, and consumed by each economic unit. Central planning may be one way of administering
such an economy. The central plan, drawn up by the government, shows the amounts of each commodi-
ty produced by the various firms and allocated to different householes for consumption. This is an exam-
ple of complete planning of production consumption and exchange for the whole economy.

In a traditional society, production and consumption patterns are governed by tradition: every per-
son’ s place within the economic system is fixed by parentage, religion and custom. Transactions take
place on the basis of tradition, too. People belonging to a certain group or caste may have an obligation
to care for other persons, provide them with food and shelter, care for their health and provide for their
education. Clearly, in a system where every decision is made on the basis of tradition alone, progress

may be difficult to achieve. A stagnant society may result.

31. What is the main purpose of the passage?
A) To outline contrasting types of economic systems.
B) To explain the science of economics.
C) To argue for the superiority of one economic system.
D) To compare barter and money exchange markets.
32. In the second paragraph, the word “real” in “real goods” could best be replaced by which of the fol-

lowing?
A) high quality C) utter
B) concrete D) authentic

33. According to the passage, a barter economy can lead to

A) rapid speed of transactions C) inflation
B) misunderstandings D) difficulties
34. According to the passage, who has the greatest degree of control in an administered system?
A) Individual households. C) Major corporations.
B) Small businesses. D) The government.

35. Which of the following is NOT mentioned by the author as a criterion for determining a person’ s
place in a traditional society?
A) Family background. C) Religious beliefs.
B) Age. D) Custom.

Questions 36 to 40 are based on the following passage:

The Montessori (B AFI#EH K) method of educating children is guided by perhaps a half-dozen
major principles of education. The first affirms the biological programming of child development, the
child’s capacity for self-realization, for “auto-education” . The second calls for “scientific pedagogy”,
a science or childhood based on observation. The third demands a natural environment in which self-de-

.6 -
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an environment, thus becoming a laboratory for scientific pedagogy. This environment should be deter-
mined scientifically. In order to expand, children, left at liberty to exercise their activities, ought to
find in their surroundings something organized in direct relation to the children’s internal organization.
All of these principles imply the next, which Montessori calls the ” biological concept of liberty in peda-
gogy : the child be free to act spontaneously ( B & #5) and to interact with the prepared environment.
The entire program is concemed with the individual child; the spontaneity, the needs, the observation,
the freedom are always those of the individual. Finally, the modus operand of the method is sensory
training.
36. Which of the following is the best title for the passage?

A) Principles of the Montessori Method . C) Results of the Montessori Method.

B) Modern Principles of Education. D) Stages of Child Development.
37. In line 5-6, the phrase “such an envionment” refers to which of the following kinds of environ-

ment?

A) Biological, accompanied by specimens.

B) Scientific, accompanied by experiments.

C) Pedagogical, in which ideology prevails.

D) Natural, in which self-expression prevails.
38. According to the passage, the Montessori method focuses on

A) the individual child C) small groups of children
B) pairs of children D) large groups of children
39. It can be inferred from the passage that the Montessori method was named aftera .
A) school C) person
B) town D) book

40. Which of the following would NOT be advocated by the Montessori Method?
A) Tightly controlling children’s group activities.
B) Carefully teaching children to listen and observe.
C) Permitting children to work at their own pace.
D) Allowing children to speak out at will during classes.

Part III Vocabulary and Structure (20 miuntes)

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices
marked A), B), C) and D). Choose the ONE answer that best completes the sentence .
Then mark the corresponding letter on the Answer Sheet with a single line throuh the centre.

41. The stadium in the heart of the city is completion this year.

A) due C) ahead
B) behind D) just

42. Every culture has its own ideal of behavior, and the United States is no
A) expectation C) expectancy



43.

45.

47.

49.

51.

52.

53.

55.

arp  serasesasces

The pedlar tried to persuade the man that the watch he sold was a Swiss make.

A) genia! C) genuine
B) ingenious D) generous
The three university graduates were given work accoraing to their __ ablity.
A) respectful C) respected
B) respective D) respectable
Although the mother was pretty, her daughter was a ______ girl.
A) beautiful C) homely
B) plainly D) simply
. In the ancient times it was difficult to _______ speaking to each other when they were miles away.
A) dispose of C) remind of
B) conceive of D) relieve of

that life was not worth living after a broken love affair.

A) Many a people have felt C) Many a person have felt
B) Many a person has felt D) Many a people has felt
. She saved ______ she could out of her slim salary to help her brother go to school.
A) how little money C) so little money
B) such little money D) what little money
came up to her and asked her if she was right in thinking she was dean of the department.
A) Hardly she had started than a man C) Hardly had she started when a man
B) She had hardly started before a man D) She had hardly started that
. They might live quite comfortly ______ a quarrel with their next door neighbour.
A) if it is not for C) weren’t it for
B) were it not for D) if it has not been for
He resigned rather than __ such a dishonest transaction.
A) took part in C) taking part in
B) take part in D) to take part in
“Will you be able to get back for the conference?” “1__ .”
A) am not afraid so C) fear not
B) don’t hope so D) am afraid so
She tried in vain to ______ the blame on to anybody else.
A) move C) transfer
B) remove D) shift
. The plan is only a draft; itis ______ to the approval of the board.
A) yielded C) submitted
B) subordinated D) corresponded
I you that the secret documents will be safely protected.
A) insure C) assure
B) ensure D) guarantee

+ 8



57.

58.

59.

61.

62.

63.

65.

67.

69.

A) their watching C) them watching

B) that they watch D) them to watch
IfI__ there, I certainly would have taken care of the problem in a hurry.
A) would have been C) should have been
B) was D) had been
Very few foreigners travel in Sweden in winter _____ the intense cold.
A) on account of C) since
B) thanks to D) for the sake of
My doctor says I must not eat nieat, but I do not have to take his advice ___
A) if T don’ t want C) if don’t want
B) if I don’t want to D) if want
__ —exhausted, in fact—I was prevented from sleeping by the pain in my knees.
A) Since I was tired C) Tired although I was
B) Tired as I was D) I was tired
Before they could start, the mist __
A) arose C) raised
B) rose D) aroused
The parents __ their daughter to marry the poor young man.
A) banned C) prevented
B) prohibited D) forbade
I can help her with that work but I don’t .
A) feel like it C) feel like
B) feel liking it D) feel like to
. The two boys are the only students I know have passed the entrance examination to college.
A) whom C) what
B) whose D) who
We all have different views of _______in the future, but no one can be certain about his prediction.
A) which will happen C) what will happen
B) that happens D) whichever happens
. To avoid making a silly mistake, __
A) it is necessary to look before one leaps C) it must be looked before leap
B) one must look before one leaps D) must look before one leaps
My dress was too large, so I went to the tailor’s and have it ___
A) adjusted C) altered
B) changed D) tumned
. A book which is at all is likely to be read more than once.
A) worthwhile to read C) worth to read
B) worth being read D) worthy of read

His speech was very eloquent last night,



B) to say nothing of significant
C) not to speak of its significant
D) not to mention had been significant

70. The expert recommended that the two functions physically and financially separated by set-

ting up research institutes.

A) are to be C) will be
B) are D) be
Part IV Cloze (15 minutes)

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked
A), B), C) and D) on the right side of the paper. You should choose the ONE that
best fits into the passage. Then mark the corresponding letter on the Answer Sheet with a sin-

gle line through the centre.

What is the ultimate purpose of science? This
question has challenged some of the most profound

scholars of the past. It is of increasing 71 71. A) concem C) attention
today, not only to practicing research scientists but B) care D) worry
to nonscientists __72 . The two groups often 72. A) beside C) by far
B) as far D) as well
__73 _ very different answers. This is not 73. A) respond to C) arrive at
B) come at D) bring about
surprising, _ 74  the average person is __ 75 74. A) since C) on condition that
by the marvellous consequences that science itself B) owing to D) in case
can bring forth: the launching of a manned space 75. A) effected C) influenced
vehicle, or the creation of a nuclear weapon B) affected D) interfered
_76  completely 77  only decades ago. 76. A) was believed C) believed
B) believing D) belief
77. A) improbable C) probably
B) improbably D) probable
__718  gigantic efforts, involving an entire 78. A) Such C) As
B) So D) With
nation’s economic and technological 79  and 79. A) sources C) resources
utilizing the skills of thousands of scientists and en- B) origins D) materials
gineers, are widely publicized and become __ 80 80. A) identified with  C) identical with
B) identified as D) identity as
the real purpose of scientific investigation. _ 81 81. A) But C) Therefore
B) And D) Since
any one-sided view _ 82  be misleading, and 82. A) is apt to C) objected to

.10.



this one isno 83 . 83. A) expectation C) expectant

How do scientists themselves regard their pro- B) exception D) exclusion
fessional aims? A great majority of scientists 84 84. A) will agree C) agree
that they are motivated by a desire to search for B) shall agree D) haved agreed
truth.

Science is a structure of many interlocking
disciplines, its growth 85  man’ s imagination 85. A) depends on C) dependent on
and his compelling desire to understand his envi- B) is independent of D) independent of

ronment and himself. The basic compulsion ( ¥f 3§

71) to leam may reveal vast new horizons, end

__86 , or produce agreeable or terrifying by- 86. A) with seemingly fruitless failures
B) with seemly fruitless failures

C) in seemingly fruitless failues

L
D) in seemly fruitless failure
products, but 87  science will fulfil its pur- 87. A) in the long un  C) so far as
pose. For we can say that nothing happens in na- B) on a large scale D) at large
ture without a reason and the basic reason is 88 88. A) survival C) live
B) living D) life
of the species, 89  implies continuing evolu- 89. A) that C) all
tion and improvement. Man’ s destiny (#Fi&) is B) which D) what
control of his environment, and the methods he
employs are ultimately only 90 to an end. 90. A) a means C) a meaning
B) a mean D) a meaningness
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